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Explain how you know.
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1. Which of the following quadratic functions will have a maximum value?
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d) g(x) = 4x* +3x— 5
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2. State the vertex of each parabola and indicate the maximum or minimum
value of the function.
! » b e Nedex (f@
8- 8+
3 a Opens
ul + Aolon
27 2
i X i .
UL SN ARNEE ST
8\’/2_2_2 INEE IRal AR N
oA =) maximnim
, vaie of &
\fer tex (”S/ﬂ > —8]
oponS WP e
of —¢
Jan 8-09:48
3. Determine the maximum or minimum value for each.
a) y= —4(x+ 1) +6 o fl(x) = —2x(x — 4) (\F
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4. Determine the maximum or minimum value. Use at least two ditterent
@ ethods.

a) y=axt—dx—1 d) y= -3 12x+ 15

B e I _b _
w T 20y 28 = arD
b= (-b@)1=-S k=3

- rInmaes of =S

b) f(x) = x> — 8x+ 12 e y=3x(x—2)+3

IR G S

fé;

z( D) +IS = 27
= axirnm of 727-

&

b _ (8 _8_ =3xS
e A
p= (gl =t o2 f
- =2
) inimamof < k=30(2*2
- )MAMV\N\OF

o y=2x*+ 12« £) gx) = —2(x+1)* -5

—b ﬁﬁjl/z:,g

o 2(7) K

L =263 HZ(”B)

>mm mw’\@é

=2

Jan 8-09:48



	Page 1
	Page 2
	Page 3

